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Q1

Q2

Q3

Q4

SECTION-1 | HINDI KNOWLEDGE & WRITING ABILITY | 60 QUESTIONS

s @ o S @ Wi @1 @ sar &, 9w @ ar i e &7
(A) gfesi
(B) wAferT

(C) qamfeT
(D) Swafefy

JBRIT Wi e &1 agaa= a9 @ forg Far far ar 22
(A) 3 WX @ 95 3 a2 T
(B) 3 WX B RT3 o oA |
(C) 3 WR & a5l T oW o &

(D) <7 WX P 95l AN B o &

ZoZZriy

94 v WIer o1 9gq9q § 7 W9 Bar 87

(A) Sw&T w9 RRafia & e &1

(B) Sw& WY ¥ &g uRacH & g &1

(C) wgaes A Swa Ravew &1 wawr far wmar 8
(D) 99® I A N o oA §|

o=t # ¥ &1 qgau 8-
(A) 89

(B) &1 Il
(C) &9 W9
(D) & &
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Q5

Q6

Q7

Q8

fFrefafea # 9 oF W b egg &7

(A) B & G D SRV 9891 qgq9T § & I §

(B) @fdmaras R gfee Hemsll & w9 agaad § agqa o #|
(C) B XA agaa Rl F1 w3 B § vawaas # gr 2

(D) Ffean &1 agaa A IR 9 IyE )

TO-HAA q41 BIRVE |

B Pra—vfak # -1 JddR ’?
(A) SumT

(B) wUE

(C) W

(D) SeiEn

dren o Ry &Y 5w, g7 et Wit )| afrare Bt &1 g@ w0 v g A=Y &
39 HrA-vfdTdl § P AATR 27

(A) IrgurH

(B) ¥y

(©) T

(D) Jfrrfa

g | P P T Y6 TGoT I W Haw 27
(A) 9% qd U wur B 8|

®) T g v Wemard g 2

(C) T9¥ W SR UT W BT &

(D) g% qd ug 3=y Bar B
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Q9 forw wrnf¥s o % 4d ug 3R IR g 7iior 8 & AR @1 frawr ug wue v &, 98

Q10

Ql1

Ql2

| G Bar 87

(A) Tgdife
(B) FHuRA
(C) Tegey
(D) gdga

FTEY H P A 87
(A) TIHY

(B) TgAfe

(C) T¥HuRY

(D) Irerdrama

Juifae @1 b WR-fawe 8-
(A) 3 + SR

B) 3T+ 9 + @

(C) 7o + Sfe

(D) ToI + 3ifaa

Rreurfl’ &1 Wl AR-fwe 2
(A) fagar + wh
B) fagar + andf
(C) fgg + it
D) fagar + s
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Q13 ‘faw’ &1 wél wiR-fws 3
(A) 7t + faw
B) =1 + fa®
© M +7>
(D) 5 + Infa®

Q14 ‘TraerR’ &1 wh We-fawe 8-
(A) fa + 3@ + 8R
(B) & + BR
(€C) & + TBR

D) & + 9 + &R

Q15 'HEyFE &1 WE A-fwmy 8-
(A) W@ + 1
(B) W + qum
(C) ¥ + 3maur

(D) ¥ + 3quH

Q16 W&l o1 wé w-fawdy 8-
(A) #Ed + R
(B) W™ + =®fy
(C) w'+ =M
(D) #&X + =M
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Q17 ‘Fwew & W Wi-fdy -
A) =+ =34
@) fy + 7w
©) f¥ + =
(D) f: 4 3r=a

QI8 ‘wEH @ wal WR-fy &
(A) §g + &
(B) ¥q + 3
(C) ¥ + gd
(D) uq + &

202202

Q19 f=fafed § & Ug ara o1 97 Hiforg—
(A) Mgy AR FaAT AR T |
(B) W& "ol Sl H THIN B T |
(C) 39 RN B UF &N aftaer 7 forar 8
(D) 9= 1 FHBT YT 3T TE |

Q20 fr=fafaa 3 & gg agw &1 999 -
(A) =T U SETaaR |
(B) SN A g9 wWazar faaw ot qurd fan)
(C) T &1 Uil =T 3R ughia #|
(D) e & fde Qo #|
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Frfafad § @ ga aw a1 999 Hife-
(A) Orft aR dWigar aga few 7|

(B) id B | Hewr @i B

(C) & U ifairorT o § )

(D) R W # TR WI 2|

Q22 ﬁﬂ%ﬁﬁﬁﬁg@’mzﬂmﬁﬁﬂq—é
(A)aﬁmﬁs‘x’%aﬁvwimaﬁaa‘raiﬁml
(B) G W HHSl BY Tq4TE B |
(C) TE AT {aad! IS S & |
(D) 9 3igRa & arel 2|

Q23 Fr=fafes # & & a &1 997 -
(A) 9/ deT B |
(B) &a1 TRA TRH @S| T 8 |
(C) U7 ¥ uBd GrHE B BRi 8
(D) US RN, SiaT qEwRi |

Q24 fr=fofEa # 9 gg areg &1 999 P
(A) 799 & IR A R e TS TaH 91 G B
(B) @ 1 @ T
(C) [ag @ &ar Wred & forg arewr &l &1
(D) SEM B& X & U W WHET @i |
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Q25 Sﬂil IR I T ﬂ?ﬁﬁ BT 9a el B— 2762827

EAE
A) 3T 989 7 29T .
pie ' ..;?'3%

(B) 3= & 3pra ¥ ity ¥ @ frer
(C) 7T &)
(D) 9UEY T e o)

Q26 ‘3 I ¥T AR’ APifaT BT T ef -
(A) HHe | #§ B
@®) foda sRRefY 3§ Suge W oM &1 sa9R
(C) fauf & eav &1 Erer =T
(D) 3TN B T g T BT FAIR FAT

Q27 ‘fam 1 FreT BAT BT SuGAT ef B
(A) YA TR BT T T ATA
(B) IJUY I8 V& dArell
(C) wga e g are
(D) T P TEH

Q28 ‘@A gt WA & Suga ef 8-
(A) WRT 9T @i 1
(B) T IM B UIHT HEA
(C) ¥z fourr

(D) & & Hedr BT
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Q29

Q30

Q31

Q32

freig g &1 Sugad 3ef B
(A) TR 3R & BT

B) & 3R &1 A W/

(C) &F T® & &1

(D) Bad HUR @A

%ﬁﬂﬁﬁumﬁ‘mﬁﬁammaﬁ%—.

(A) VIR W 99
(B) 3% HHeq BT

(C) I B W H I

(D) gfawm # &

L2928

HIe ure &1 9 G el &1 Suged e 8-
(A) I7® &3 BT JHa

(B) offgs # Rerar &1 ammE

(C) TR T WEHT

(D) RusR & forg a8t a8t g

Tl v @1 fAdm 8-
(A) 3t
®) wfd
(C) W
(D) IgE
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Q33

Q34

Q35

Q36

e F1 fRdm 8-
(A) @ww
(B) wHH
(©) faww

(D) @4H

A TR B fAdm -
(A) 3D
(B) IrdAr®
(C) e
(D) wei®

TR %1 faem &
(A) Rga
(B) 999
(C)

(D) W

LZBT08E

I TE BT fadm &
(A) IS

(B) WSS

(C) e

(D) =TT
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Q37 ‘Iga IR F1 fadH 8-
(A) famfea
(B) e
(C) uRfte=
(D) 3rga

Z9Z962

Q38 fmifafaa & & dF—wr e W &1 yaigard wid &7
(A) Trar
(B) #rm
(©) I
D) 3z

Q39 fr=fafaa & Pm—wr v ‘=X & waigard T8 27
(A) Mf
(B)
(C) 53
(D) =g

Q40 Fr=foRe ¥ § P—w1 v TG FT qGEaTdl T8 87
(A) <&
(B) et

(€) fFgm
(D) wdor
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Q41

Q42

Q43

Q44

fmfafea § @ P v el 1 yataard T8 82
(A) faw
B) @1
(©) weh
(D) fasm

ffafaa 4 @ IF-w v @ H1 waigar T8 87

(A) gfemm
(B) <fg=

(C) T

D) g

2922827

fr=ifoiRea # 9 -1 o= ey &1 wibard 82
(A) B

(B) TGN

(C) ATHN

D) wf

frafafaa # 4 @F—a1 v g’ &1 waigarE) T8 87
(A) &«
(B) @

(C) go

(D) 3™
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Q45

Q46

Q47

Q48

frefafaa # & @9 w1 v aom T8 87
(A) o
(B) W
(€) witvr
(D) wftfaw

Frafoafaa 3§ § o9 ar = aga &7
(A) Sema
(B) S@ard
(C) Fream

(D) S

frferfaa ¥ & & wr v T T8 82
(A) fers
®B) afe
©) @@

(D) T

3842827

fr=forfaa & @ o w1 vt aga EF 87
(A) <fa
(B) 3R
(C) 3t
D) F

P-KS-1 14

SERIES-AB



Q49

Q50

Q51

Q52

fFrafaRea & 9 99 w1 v a8 &2

(A) =

(B) yo
(C) A9

(D) U®

Frefefaa # 9 @9 a1 o aom T8 82
(A) TEF
(B) aH
(C) YImas

(D) SYEH

Frefefaa 4 & @9 W = aga =78 87
(A) BY
(B) d&a
(C) S9ar

(D) Sarc

frefafea § ¥ @9 a1 v g T8t 87
) TR N
(B) HIHT
(C) SasH
(D) BIvT

a2
o™~
&
o
o9
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Q53 Xm ¥ faERvr FAare g @ wer war 8-
(A) Framasz
(B) TR
(C) TwaER
D) frarr

Q54 o @™ Ag T 8-
(A) @
B) wF
(C) 3T

(D) e

~
o~
5]
o
&
™~

Q55 forad i W 7 B
(A) TE
®) Jfraa
(C)
(D) fa

Q56 T ¥ W W TR’ B gl T &2
(A) @&
(B) I
(C) vy
(D) Ay
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Q57 T W I e W' &1 waEnel 7E &7
(A) Rl
®) T
©) 753
(D) =

Q58 1 wraaras WeRil @ 3id F ‘g’ Aar 8, AT foiT B 8-
(A) gfest
(B) wiferr

(C) TqwaferT
(D) SwafeiT

Q59 e Wl & W X W X A | wrar 9w &1 @ w9 g
(A) T
B) e
(C) ®rat
(D) TR

Q60 ‘warel’ wreg # BIF W i 87
(A) gfes
(B) Wi

(C) gwafeiT
(D) Swafer
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Q61

Q62

Q63

SECTION-2 | GENERALAPTITUDE TEST | 30 QUESTIONS

In a certain code language, GRASP is
written as INOPQ and BROWN s
written as RNSTU. How will SPARROW
be written as in that code language?

(A) RSQGGSU

(B) QQONMOT

(C) PPONNSU

(D) PQONNST

Ina certain code language, ‘1 2 3" means
*hot filtered coffee’, ‘3 5 6" means ‘very
hotday’ and *5 8 9" means ‘day and night’.
How will ‘very” be coded as in that code
language?

(A) 6

(B) 7

€)1

(D) 2

Select the word that can be formed using
the letters of the given word only as many
times as the letters have been used in the
word.

AUDEFGRSA

(A) PSEUDO-GRADE

(B) SAFEGUARD

(C) STAGNATION

(D) GRANDSON

P-KS-1
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Q61 & ffRam #re W § GRASP &t

INOPQ 3R BROWN &I RNSTU & &9
# forar a1 8 | SPARROW &1 31 18
wr 3 e uar forar s

(A) RSQGGSU

(B) QQONMOT

(C) PPONNSU

(D) PQONNST

farelt ff¥ac o T #, 4123 @t 2
B fbees S, 356" or i & a9
gc S R 589 @ af R T TS
T | W Pre W A A A B
Hifea far smgm?

(A) 6

(B) 7

(©) 1

(D) 2

o9 I & 989 &, Rt R Ry v
e & HERT BT SYANT AN AR PN
G111 Wehall &7 forerl AR g v i
et &1 SR B3I;T B |

AUDEFGRSA

(A) PSEUDO-GRADE

(B) SAFEGUARD

(C) STAGNATION

(D) GRANDSON
SERIES-AB



Q64

Q65

Q66

——

If the word NUPKIPM is unscrambled,
then the name of a fruit/vegetable is formed.
What is the last letter of the word so
formed?

(A) K

(B) U

(C) N

(D) M

Each of the letters below has been assigned
a unique number. Select the combination
of numbers such that the corresponding
letters when arranged accordingly will form
ameaningful word.

CELSMU

345678

(A) 7,4,5,3,8,6

(B) 6,8,7,4,5,3

(C) 6,8,5,7,4,3

(D) 7,8,6,3,5,4

Form a meaningful word with the first,
fourth, seventh and eleventh letters of the
word ‘SUPERFLUOUS’. What is the first
letter of that word?

(A) U

(B) L

(oW

(D) R

P-KS-1
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Q64 f& NUPKIPM ¥1& &1 YISl Wil 2,

Q65

Q66

al felt wer / weoll &1 M @ 8| S
& &1 3ife s Fur 77

(A) K

(B) U

(C) N

(D) M

A Ry ¢y 3R @ forg v argfad
we fafde @ 7€ 8 | Wil @ waE
F1 T4 39 YBR X & ATHY qUIT Bl
erafter f&ar S, o qeTER Ue wrid
v 49 WY |

CELSMU

345678

(A) 7,4,5,3,8,6

(B) 6,8,7,4,5,3

(C) 6,8,5,7,4,3

(D) 7,8,6,3,5,4

‘SUPERFLUOUS' ¥1& & Ugal, 9, |Rid
3R NEd IR W UE anie vE-wy
10 | I e BT TR AER 4T §?
(A) U

(B) L

(O o

(D) R
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Q67

Q68

Select the second, fifth, tenth and twelfth
letters of the word ‘METROPOLITAN’
to form meaningful word(s).

If only one word can be formed, then
select the third letter of that word as the
answer. If more than one word can be
formed, then select M as the answer. If

no such word can be formed, then select

X as the answer.

(A) O
(B) P
(©M
) X

Select the number that can replace the (?)
in the following series.

22,33,66,88,7

(A) 84

B) 97

(C) 115

(D) 165

P-KS-1
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Q67 wrefd e

15 S N £ 1
‘METROPOLITAN’ 91 @& g, Uied,
THd 3R INEd el B 95T P
afy et UH T 49 GH 8, O I&N
T W0 H O R D AR JER BT GG
o | aft Ua @ e v a1 wad €, @
IR B B9 A M@ g | Il T B
& TE q1 WHaT ¢, O S D 69 A X
31 g |

(A) O

(B) P

(C) M

(D) X

Frfeiflaa sigar 3 (7) 31 orTE sl
& UHA qrel WA BT 99T Y|

22, 33, 66, 88, ?

(A) 84

(B) 97

(C) 115

(D) 165
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Q69

Q70

Q71

Select the number that can replace the (7)
in the following series.

2,20,74,110, ?

(A) 152

(B) 182

(C) 190

(D) 210

Select the number that can replace the (7)
in the following series.
2,7,14,23,7,47

(A) 21

(B) 38

(C) 34

(D) 28

Select the letter-cluster that can replace
the (?) in the following series.
KPA,LQB,MRC,NSD,?

(A) OTE

(B) PER

(©) LTQ

(D) MOL

P-KS-1
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Q69

Q70

Q71

Praferfee siwen # (2) @ e sfenfid
B H&A arel WAl $T I Y|
2,20, 74, 110, ?

(A) 152

(B) 182

(C) 190

(D) 210

e s % (7) # e wftentda
T AP arell HEAT BT 9GT BN

2,7, 14,23,7,47

(A) 21

(B) 38

(C) 34

(D) 28

frfalea gaar 4 (2) & wfenfa
B ATl MER-THE BT 94T Y|

KPA,LQB,MRC,NSD,?
(A) OTE
(B) PER
(C)LTQ
(D) MOL
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Q72 Four numbers have been given, out of

Q73

P-KS-1

which three are alike in some manner and
one is different. Select the number that is
different from the rest.

720, 120,24,8,2, 1, 1

(A) 24

(B) 8

©) 2

(D) 120

Read the given statement and conclusions
carefully and decide which of the
conclusions logically follow(s) from the

statement,

Statement:

The National Skill Development
Committee conducted an assessment
among their trainers and found the

performance below mandatory level.

Conclusions:

I.  The committee should immediately
organise remedial courses and training
to improve standards.

II.  The committee should terminate poor

performers and hire new trainers.

(A) Only conclusion | follows.

(B) Only conclusion II follows.

(C) Both conclusions I and II follow.

(D) Either conclusion I or Il follows.

22

Q72

Q73

3508170

R e Q) 7 € R @ & i
TE W 0P O § IR @ A B 9w
T B gYT B o a o e R
720, 120, 24, 8,2, 1, 1

(A) 24

(B) 8

©€) 2

(D) 120

Ry 17 e o Fspel @ oF 9@ 0
3R TF B fh SW A A P °1 s
afs wY ¥ A @@ /9 2

DY

g e fAer w3 s wftwret
% 419 TP Aba $I e fbar 3w
I weEH B Afrard wr W A

forsed:

. Y & s § weiem @ farg
Ao GURTHS IISTsHH 3R Wi
@1 IS B AR |

afafy ®1 @wa yeei d et o
&1 &1 ARy 3 1Yyl @
T o ARy |

(A) daa fFreed | e @ )

(B) @aa frsed 11 ¥ @ #)

(C) frewd 13 11 21 ¥ @ ¥

(D) a1 ar e [ ar 11 3 @ 2

I1.
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Q74 Read the given paragraph carefully and

decide which of the conclusions given in
the options logically follows from the
paragraph.
Alarming level of pesticide and insepticide
residue is found in fruits and vegetables
sold in the market, causing public unrest.
The reason is farmers being forced to use
affordable chemical pesticides in large
amount to protect the harvest.
The pests, after sometime, get immune to
chemicals and hence farmers are forced
to use more harmful chemicals to
exterminate them. The government, is
however, planning to ban the use of some
harmful chemicals as they cause health
issue, thus breaking this vicious circle,

(A) Herbicides should be used by farmers
to prevent such health hazards and
portect the crop at same time.

(B) The farmers have been relying too
much on the chemiclas, long enough
for the pests to evolve and develop
resistance towards them.

(C) The goverment is going to ban all
chemical insecticides and pesticides
and their use in any form.

(D) The farmers are planning to protest

against the banning of chemical

pesticides.

P-KS-1
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Q74 fau v gftede &) ey § U alR au &

fa faweut % § 5 W frepd s wRwg

¥ afds w9 & A @rar ¥ |

BIeATD AR HRAAD JTAN BT GARAD

TR OR A fAd arel ol iR afewaf

# foar 2 R @t 3§ s @

At gean 8 | fFue waa 3 e FE

@ forg a8 wmn ¥ W yaafe demaet

HT TGN P B U AR B 2

He, TP W 4R, WHEAI § qIA B

gt () av @a § oir gwfere

framt a1 9% T o @ forg afte

B RS YA &7 UarT $39 & g

g BT Sl B | Eifh, WHR §H

YHR & ¥ B gl & fog g

gifieRe WAl @ Syl Wy

yftrder @ @ Ao & @ R RS

2l

(A) 39 TRE B @R Harl R B
A B forg, ARI—amy B B @I
& @ fou fEamst &1 e &
AT AT AIfRY |

(B) fHam <O/ & waT W s
anféra 81 v € fores o e | A
Haq drel & e g 8, afes
S wEEl & ufy wioRe smar
W fasfa & ot ®)

(€) waR Wi wrfE i 3R
Dt 3R 0 TPR & 9
IR W afdy S o @ # |

©) fEwm wwmafe e
yfag @ favg wadlw @& @
AT g W § )
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Q75 Read the given statement and conclusions

carefully and decide which of the
conclusions logically follow(s) from the

statement.

Statement:
A police officer receives a complaint that
an MP of his district is taking bribes in

order to facilitate some work.

Conclusions:

L. The police officer should try to
investigate the matter and catch the
MP red-handed.

Il. The police officer should wait for
some more complaints and then
catch the MP red-handed.

(A) Only conclusion I follows.

(B) Only conclusion II follows.

(C) Both conclusions I and I follow.

(D) Neither conclusion I nor Il follows.

P-KS-1

Q75 fy v werT 3w frend &Y e & @

IR Ffdeg = 5 o9 W fAresd sw
YT A PP WY A A Qrar & a7 @
g1

Y
@ yferd afrardt &1 R fed &
f5 swd R o1 1@ wive @w am
&A@ forg Reaa o war 2

Fref:

L g e & wma & Sita s
AN wiwg B A oE qwme B
HIRE F @fkg |

. yferw s o 35 ik Rl
T FAWR HAT ARy 3R v wive
@1 ¥ gRif gwe ARy |

(A) Paa fresd 1 e @ )

(B) dad fend 11 ¥ @rar &)

(C) Frend 13 11 AT ¥ @t &)

(D) = o Fr=pd 17 11 ¥ @rer &
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answer the following question.

Soil erosion is a naturally occurring
process that affects all land forms. It refers
to the wearing away of a field’s topsoil by
natural physical forces of water and wind.
Topsoil, which is high in organic matter,
fertility and soil life, majorly contributes
to the growth of crops. Soil erosion
reduces cropland productivity and causes
the pollution of watercourses, weltlands

and lakes.

170

Which of the following options does NOT g
show steps taken to prevent soil erosion?
(A) Use of proper drainage canals.

(B) Using of contour sloughing.

(C) Soil erosion is a result of mankind’s
unwise actions such as overgrazing
or unsuitable cultivating practices.

(D) Planting provides a protective cover
on land, and this allows most of the

rain water to soak into the groung
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Q76 Read the given paragraph carefully and Q76 RY T @I B wEygds @ alv

Freaferfaa v &1 saw <)
F-&NO1 U WrEIfad ®U ¥ B9 arel
wisan 8 ot o 4fft & wreot @ wafa
sl 8| 78 R AR EA @ yphe
e Tl gRT U &7 B Fod A B
Hed B U &) O Hud B, o
Frfie garl, S v Ad @ o
@ fog sopee Bl R, wwat A gfy
TIE ©Y W AMEE AW B R W
P-4 & ST P B & 3R
T TTe-WaTe, A iR il ¥ wgwor
grar &1
frfafed § 4 a9 w1 Ao g—emor
P WF & fog Sag v Hew o @
e &2
(A) v Frarh @ foay wagfa et @1
JYENT |
(B) wHreadry S[aTd BT S9N |
(©) 9-&rv1 #=E wfa @ agfaa
FrEl 9 aftare a1 Fy @
qwarfl ggfrat &1 aRom &
(D) FoRWYT & 4 BN 0F GRan
vy et & 3R 5 yaw
afe 6 B 2, Wi o R w
TEa & R 4 sl avfore
B v AR W o &)
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Q77 Read the given paragraph carefully and

decide which of the conclusions given in the
options logivally follows from the
paragraph.
Ina TV show, a famous nutritionist said that
among different items offered for breakfast,
muesli has more nutritional value than
regular cereals. He also said that oatmeal
is healtheir than bread. But a recent
commercial of a cereal company says that
cereals like cornflakes are richer in nutrition
than plain muesli. The consumers are
posting severe criticism on social mediaand
on the company website about the
misinformation in the advertisement.

(A) The nutritionist has deliberately made
that comment to generate negative
sentiments against the cereal
company.

(B) The nutritionist has high credibility
and people believe his/her words
against that of the famous cereal
company.

(C) The cereal company had done the
advertisement based on an outdated
research and the misinformation was
unintentional.

(D) Social media sites are increasingly
becoming popular among customers

as complaint portals.

P-KS-1
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Q77 Ry v yRwg &1 wF ¥ 92 3R @9

3668170

& & fAFwl 4 4 o9 @ fed ga
wRede § afe w0 | A @@ # )
@ S oW oH, ot wig umo fag
(feafe) 3 #a1 & 9 @ fow 9
B 9 arelt fafdy wer @ awgeit ¥,
el # WA 3= B gar # e
qreor gar &1 S g8 W @
sferar I 1 o d wreade &
A &1t € 4 0P 3= BN B s
&1 F51 8 5 atvaed (7os) oW a1
TR e A gern H uor F whg #
fagme= % € 7€ e SEEd B dey
ST Wi Aifea iR FEh @
qUEe W HS! AT I W@ E |
(A) UrT g 9 SFggER S feud)
Bl I3 BN B Raas FHRETS
AT I~ B D forg #rs
Bl
B) umor g aga & fvawd & sk
SN 3 BIA D qOg ITD FEl
TE 9l U AR B 8
© I B A b R WY D AR
W fasmes fvar or ol a8 o
A R—gxrEa ot
(D) W #ifear wRew S & 4"
Rrama oida & w0 d doff 9
ASg 8 W &)
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Q78 Fivecolours have been given, outof which Q78 U ¥ f2y 71v &, v & aR fef) o

Q79

four are alike in some manner and one is
different.

Select the odd one.

Green, Indigo, Pink, Orange, Yellow

(A) Orange

(B) Pink

(C) Green

(D) Yellow

Five subjects have been given, out of which
four are alike in some manner and one is
different.

Select the odd one

Physics, Chemistry, Geography, Botany,
Zoology

(A) Botany

(B) Chemistry

(C) Physics

(D) Geography

P-KS-1

Q79

3428170

A U I E 3R P T B
=1 1 B v B8

(A) e

(B) T

©) &

D) dien

i R Ry v & Rl & o 50
WE A W 8§ 3R U ST B

A BT 9T B

oira fasr

(A) Tvufy s
B) varE fwe
(C) *ifer® Rsm
(D) i
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Q80 Five words have been given, out of which

Q81

four are alike in some manner and one is
different.

Select the odd one.

Canoe, Dinghy, Igloo, Raft, Yacht

(A) Raft

(B) Igloo

(C) Canoe

(D) Dinghy

Five words have been given, out of which
four are alike in some manner and one is
different.

Select the odd one.

Cliffs, Lapies, Stalactites, Sinkholes,
Stalagmites

(A) Stalactites

(B) Stalagmites

(C) Lapies

(D) Cliffs

P-KS-1

3308170
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Q80 drm e Ry 7y & i 9 ar 5

Qs8I

TWE ¥ @ o € 3R @ A= 8
=1 s &1 wgT R

(A) 3T

®) femgd

(C) &=

) =t

i v Ry v € el ¥ ar &
a8 ¥ U3 99 € 3R U e B
WA BT I |

frcidt Feg

(A) IR fg (redaese)

B) fcd fem

(€) e

D) @S uEH
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Q82 Five words have been given, out of which

Q83

four are alike in some manner and one is
different.

Select the odd one.

Semicircle, Semicolon, Semifinal,
Seminar,

Semitone

(A) Semitone

(B) Semicircle

(C) Seminar

(D) Semicolon

A travel agent surveyed 100 people to find
out how many of them had visited the cities
of Mumbai and Bangalore. 31 people had
visited Mumbai, 26 people had visited
Bangalore, and 12 poeple had visited both
cities. Find the number of people who had
visited neither Mumbai nor Bangalore.
(A) 12

(B) 55

(C) 19

(D) 45

P-KS-1

OLi8vEE
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Q82

Q83

dig weg v v € Rrl @ ax el
aRE ¥ 0P SN & 3R uE e B
A T AT BN

(@), sreivavan

(A) IEaws

(B) g

(©) TR (Hared)

(D) 3R

f&dl $aa oie A 100 A@nit @1 w0y
R s T v T W f 9
fsem Hag 3R drge wEw W A 31
ST Hag Y &, 26 AT FIGT T & 3R
12 @ QT Wt | g o | 39 arlf
| o N, WA @ e IR T @
T MY A |

(A) 12

(B) 55

(©) 19

(15)45
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Q84 A survey of 500 TV viewers produced the

Q85

following information.

285 viewers watch football games, 195
viewers watch hockey games, 115 viewers
watch basketball game, 45 viewers watch
football and basketball games, 70 viewers
watch football and hockey games, 50
viewers watch hockey and basketball
games, and 50 viewers do not watch any
of three games. How many viewers watch
exactly one of the three games?

(A) 440

(B) 365

(C) 205

(D) 325

In an airline, hot drinks and iced tea were
served to 120 passengers. 75 passengers
enjoyed hot drinks and 62 enjoyed iced
tea. If 40 enjoyed both, then how many
passengers enjoyed none of the beverages?
(A) 15
(B) 12
(C) 23
D) 25

P-KS-1

LL18BeE

30

Q84 & q@H A 500 gYH B fa §C

Q85

wdeor 3 Pr=fefea Smer wra g8
285 T¥ia pedta Wa wd §, 195 39
g Wl <@ €, 115 TUd aRdedid
Qd @d €, 45 ¥ gedld ok
IRBTATA W @A &, 70 s¥i® gedra
AR B @a @ g, 50, =eiw E
3R gdedia Wa I 8, AR 50 39E
B¢ A A W BE A T E
e <3 T @t 3§ 9 5 ve @
I o S @ &

(A) 440

(B) 365

(C) 205

(D) 325

TS Tavers #, 120 At @ g e
3R g & WK Y | 75 W A g
f¥ea &1 g foram ik 62 3 amgw &
&1 g forar| aft 40 3 ST & g
foram, o fsemr af3it = O el # @

Rt 1 o o T R
(A) 15
®) 12
(C) 23
(D) 25
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Q86

Q87

Select the option that is related to the third
word in the same manner as the second
word is related to the first word.
STATUE: SIZE :: SONG : ?

(A) POETRY

(B) "WORDS

(C) SINGER

(D) TUNE

A survey of 100 candidates with respect
to their choice of ice cream flavours -
vanilla, chocolate and strawberry-
produced the following information.

50 candidates like vanilla, 43 like
chocolate, 28 like strawberry, 13 like
vanilla and chocolate, 11 like chocolate
and strawberry, 12 like strawberry and
vanilla, and 5 like all the three flavours.
How many candidates like chocolate and
strawberry but not vanilla?

(A) 24

(B) 10

(C) 32

(D) 6

P-KS-1

31

021829¢

Q86

Q87

99 fawey &1 aaw X o R v |
S yeR wafE & o ver gaw v
UEd U | Hal B

ARy : MR = AT ?

(A) wfaar

(B) 1=

(C) Tas

(D) g

100 aaftfat & wdeor A angwwH
Tav-afie, dideie 3R W B I
g & Hay ¥ Fr=forfRed ser wra
N |

50 arafdia =1 affvem dag Y, 43 3 didoie
UHE @, 28 A FWAQ TwHE B, 13 3,
afyar ik diede @ s @ 113
didaie AR WA gHg A, 129 i
3R e &1 whg frar ok 5 9 i
T Forae weg by | A7 ey apaedf €
ol divae ik WS o wHe A

A afer o1 v 7€ far
(A) 24
(B) 10
(©) 32
(D) 6
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Q88 Ina certain language, WOMEN is written
as OWMNE. How will NOTES be written
as in that code language?

(A) TONES
(B) SETNO
(C) ONTSE
(D) ONETS

Q89 In a certain code language, SKEW is
written as POCY. Which word will be
written as JYQV as in that code language?
(A) JUST

(B) MUST

(C) LUST

(D) HUSK

Q90 Inacertain code language, MOBILITY is
coded as 46293927. How will
EXAMINATION be coded as in that code
language?

(A) 27159415955

(B) 67038401834

(C) 56149512965

(D) 12250623034

P-KS-1
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Q88 &M s fAf¥=a wmr i WOMEN &1

Q89

Q90

OWMNE & &9 ¥ forar man &) ot
IS 9T ¥ NOTES &Y fbwr wa forar
STgT?

(A) TONES

(B) SETNO

(C) ONTSE

(D) ONETS

f&d fRaa @re w1 # SKEW &
POCY & &9 % forar mar 8| ot a1 ‘
o H JYQV @ AHU I-u e

feran smem?

(A) JUST

(B) MUST

(C) LUST

(D) HUSK

fasi FAfEa @rs s %, MOBILITY &1
46293927 & WU # gewifta fear
g1 S HI WMT B ALHY
EXAMINATION &1 &9 gefta fan
SITQT?

(A) 27159415955

(B) 67038401834

(C) 56149512965

(D) 12250623034
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Q91

Q92

Q93

SECTION-3 | GENERAL KNOWLEDGE |40 QUESTIONS

Thecityof ____ in the state of Uttar
Pradesh is famous for brassware
manufacturing.

(A) Saharanpur

(B) Moradabad

(C) Agra

(D) Lucknow

In which year was the Banaras Hindu
University established?

(A) 1902

(B) 1910

(C) 1916

(D) 1921

Which of the following was the most
literate district of Uttar Pradesh as per the
Census of 20117

(A) Ghaziabad

(B) Kanpur Nagar

(C) Lucknow

(D) Jaunpur

P-KS-1
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Q91

Q93

IR W« Iy H e fad @
T+ 3R swafiey & fog ufeg 81
(A) HERYY

(B) TR
(©)

(D) d@TS

e 8 Rwafigaey e of wnfta
far T ar

(A) 1902

(B) 1910

(C) 1916

(D) 1921

2011 3 STV B FFER, IIRN TQA
o1 Gaifs GBR SHIg PE—ar 9r?
(A) mifSramE

(B) PN TR
(C) s@ &

(D) SiFgR
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Q94

Q95

Q96

Which district in Uttar Pradesh had the
highest per capita GDP for the year 20187
(A) Meerut

(B) Lucknow

(C) Gautam Budha Nagar

(D) Prayagraj (Allahabad)

Which of the following is the national flower
of Uttar Pradesh?

(A) Brahma Kamal

(B) Kandhal

(C) Rhododendrons

(D) Palash

Pradhan Mantri Kisan Samman Nidhi
(PM-KISAN) was launched in the year
2019 from in Uttar Pradesh.
(A) Lucknow

(B) Gorakhpur

(C) Prayagraj (Allahabad)

(D) Varanasi

P-KS-1

4002827
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Q94 Tar wow @ fow foral 4 af 20183

Q95

Q%6

fore ity afd W wve Sa@e (Gred)
e Afts ar?

(A) RS

(B) TETH

(C) e dig TR

(D) WATRIS (§eTETars)

IR Wou B v g Frefafaa §
A P &2

(A) 989

B) HfEr (sifFfn)

(C) VergH

(D) e

ad 2019 % IR W3W ¥, wur w7 e
o A (PM-KISAN) & @
g% far mar ar)

(A) @S

(B) TRER

(C) WITRIS (FATETTE)

(D) TR
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Q97 ‘Dum Pukht’ is a popular process of

Q98

Q99

Q100

in Uttar Pradesh.
(A) preparing food
(B) stitching cloth
(C) sowing seeds
(D) carving wood

Which of the following is the ceremonial
tradition of laying the food items during
meals?

(A) Zardozi

(B) Chikankari

(C) Dastarkhwan

(D) Kharija

Which city in Uttar Pradesh is called the
‘ceramic city’?

(A) Lucknow

(B) Moradabad

(C) Prayagraj (Allahabad)

(D) Khurja

, a small town in Uttar Pradesh,
is known for its decorative red clay
pottery.

(A) Bareilly
(B) Meerut
(C) Chunar
(D) Firozabad

P-KS-1
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Q97

Q98

Q99

YR IR TRAA . A s
afia ufthar &

(A) & yBE @ fafy

(B) wyer Riarg

(C) 951 3™

(D) &&HE T abreh

oA & W99 WIgT warll B o @
ahreRe W Frefafa 3§ § 9 82
(A) SRR

B) fFTEm

(C) TwREH

(D) @

IR oW B fEw wEw 3 Rk Ry
HBI AT 87

(A) T

(B) I=mETR

() T (geErre)

(D) guif

Q100 STR WY T TS BIST—HT I8,

ol ot g @ womad) acdHt @ forg
ST ST & |

(A) a¥elt

(B) o

©) g
(D) T
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Q101 What is the other name of ‘Lucknow Q101 Fu 3 "9 g A e el | waRa

Gharana’ - a style of dance and music? S AT BT QR A 7 82
(A) Uttar Gharana (A) SR Ol
(B) Nritya Gharana (B) T B
(C) YogyaGharana (C) arg uvFl
(D) Purab Gharana (D) 9 uRT
Q102 India ranked ________ in coffee Q102 ad 2017-2018 # S Feurew # 9wa
production in the year 2017-2018. W W@
(A) second (A) g
(8) fifi g ®) trad
(C) seventh " (C) wrd
(D) ninth (D) g

Q103 Which country among the following is the Q103 frfafRaa # & D 91 Y RO 91

largest importer of Indian tea? P WA 991 AATAD 27
(A) USA (A) Uy (USA)
(B) Russia (B) 9
(C) France (C) wiw
(D) Germany (D) S
Q104 The firstjute mill wasestablished atRishra,  Qio4 af 3 @raawn & ura Tl
on the river Hooghly near Kolkata in the T8 g, Rerer ¥ veeh e fa § wnfie
year : 1 g o)
(A) 1847 (A) 1847
(B) 1855 (B) 1855
(C) 1889 (C) 1889
(D) 1900 (D) 1900
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Q105 Which of the following is regarded as

Asia’s largest spice market?

(A) Khari baoli - New Delhi

(B) Bapu bazaar - Jaipur

(C) Lal darwaja market - Ahmedabad

(D) Koyambedu market - Chennai

Q106 Which of the following companies is the

title sponsor for India’s cricket team?
(A) Sahara

(B) Vodoafone

(C) Reliance

(D) Paytm

Q107 In which of the following countries was

the “World Police and Fire Games’2019
held?

(A) Russia

(B) China

(C) Denmark

(D) Israel

Q108 Which of the following movies won the

66th National Award in 2019?
(A) Hellaro

(B) Uri: The surgical strike
(C) Andhadhun

(D) Sarala Virala

P-KS-1
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Q105 TR &1 Waw a1 HHren aoiR Pt

¥ W B wET o #?

(A) @ Tl - 7% e

(B) AT AR — SR

(C) o1t SRATSI AIHT — JFHGTEIS

(D) BRPRG Ade — T=18

Q106 Fr=iforfad # & - ) wRa B

e 3m B Ry RS Wk £
(A) HERT
®) s
(C) Ramwa
(D) ¥reH

Q107 ‘IS yferw Us iR A 2019 Fferiaa

# 9w w3 smafm fsar man en
(A) &

B) 9

(C) ST

(D) ToNES

Q108 fr=iforfaa & A fbw fvew &1 2019 &

66T LT GIFBHRN HAar?
(A) feami
B) 38 & wiiea wrs
(C) e
(D) e faven
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Q109 When was the autumn equinox 2019?
(A) 23rd September
(B) 29th September
(C) 16th October
(D) 26th October

Q110 Who among the following has been
awarded the Vir Chakra in 2019?
(A) Col. Lalit Rai
(B) Havildar Chuni Lal
(C) Wg.Cdr. Abhinandan Varthaman
(D) Lt Col. Yogesh Kumar Joshi

Q111 Indiaranks ____inthe Global Innovation
Index 2019.
(A) 47th
(B) 52nd
(C) 5%h
(D) 63rd

LTRTTLE

Q112 India ranks number _in the list
of countries (and dependencies) by
population.

(A) one
(B) two
(C) three

(D) four
P-KS-1 38

Q109 < fagg (a-fRw awam) 2019 #

PRI
(A) 23 Ricae
(B) 29 fdaw
(C) 16 3@
(D) 26 Jragax

Q110 20194 Frefofaa A A AP AR oo @

Qll1

g fasar mar 87

(A) Ta afera v

(B) §IER T Wil

() R ey st aefwm
(D) Affeste wia drte FaR w9

Had FARTE 99w 2019 ¥ WRa
WM W §|

(A) 477

(B) 52¢

(C) 59%

(D) 63¢

Q112 SFHET & AHR R 39T (3w Frias)

g A T B Y __ #
(A) &
(B) <
(©) &=

D) IR

SERIES-AB



Q113 Which city of India ranked first in the
‘Swachh Survekshan National Ranking’
| 2019?
(A) Bhopal
L (B) Jamshedpur
i (C) Indore
(D) Khargone

Q114 The Goods and Services Tax (GST) was
introduced in Indiaon IstJuly,
(A) 2014
(B) 2016
(C) 2017
(D) 2018

Q115 The special power of the Rajya Sabha to @
empower the Parliament to make laws in :’g
respect of any matter enumerated in the
State List by adopting a resolution to this
effect is given in Article of the
constitution.

(A) 128

(B). 198

(C) 223

(D) 249

P-KS-1 39

Q113 9Ra & b 8w 3 W@ waewr AHA

e 2019 # gger wm wra fHar
(A) #rard

®)

(€) ¥R

(D) @I

Q114 3% Ud ¥ar I (GST) AR ¥ 1 g,

& g far T o)
(A) 2014
(B) 2016
(C) 2017
(D) 2018

Q115 w1 o & Aty ufd W sy @

TRG JUATHR W & ey
Y Rmmm g 5w o
A 4 wie 5 o e @ wag A
B T B Y W6 B e a4
@ |

(A) 128

(B) 198

(C) 223

(D) 249
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Q116 Department-related Standing Committees

were set up in to scrutinise the
functioning of the various Ministries/
Departments of the Union Government
assigned to them in order to further
strengthen the accountability of the
Government to Parliament.

(A) 1991

(B) 1993

(C) 1999

(D) 2000

Q117 How many states with Fifth Schedule Areas

are covered under the Provisions of the
Panchayats (Extension to the Scheduled
Areas) Act, 1996?

(A) 7

(B) 9

(C) 10

®) 13

Q118 Under the provisions of Article

a joint sitting of the Lok Sabha and the
Rajya Sabha can be called by the President.
(A) 93

(B) 105

(C) 108

(D) 116

P-KS-1
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Q116 B WK & A= H=rert / fwmt @

T B Sire B B forg fammr | wafa
Rl wffRl & wmer ¥
@l 78 ff o wag & oy e H
mﬁﬁéﬁaﬁmwmmvm
(A) 1991
(B) 1993
(C) 1999
(D) 2000

Q17 dierd SRyt &t (Rover Rreger wftan)

a feen wrow, daradl (@l &t
T faega) @ Hafra afdfem, 1996 3
a8 I 87

(A) 7

(B) 9

©) 10

(D) 13

Q118 arg@e_a‘,amﬁr%mmn

AR IS B HgT 5T B WUl
ART AT AT HEHT & |
(A) 93
(B) 105
(C) 108
(D) 116
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Q119 In the event of a tie while voting in the

Lok Sabha, the has the casting

[ vote,

(A) Prime Minister
L (B) Speaker
(C) President

2522202

, (D) Vice President

Q120 Which state in India has a city nearest to
the Tropic of Cancer in India?
(A) Mizoram
(B) Madhya Pradesh
(C) Tripura
(D) Chhattisgarh

Q121 Identify the neighbouring nation with which
India shares the longest boundary.
(A) Nepal

I (B) China

+ (C) Myanmar

(D) Bangladesh

P-KS-1 41

Q119 FAGHHAT # FeeT HY WY 218 a1 Rufy

¥ @ A S o IReR
grar 21

(A) wuTE w4

B) ¥

(©) wf

(D) Surzuf

Q120 WRa & 5w v ¥, wRa 4 o9 Y@

(i offe Fav) & Ay Wiy o
R #?

(A) P

(B) ™g W_Y

(©) Bgw
(D) BETE

Q121 TH TSR WU &I YFFH Y forad ARy

HIRG YT T i) AT A S
(A) U
B) 9
(C) =R
(D) afreTes
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Q122 The Indian peninsular extends in to the

(A) Arabian Sea
(B) Indian Ocean
(C) Himalayas
(D) Bay of Bengal

Q123 Which of the following is the world’s largest

gorge?

(A) Copper Canyon
(B) ColcaCanyon

(C) FishRiver Canyon

(D) The Grand Canyon

Q124 Which of the following is the world’s largest

river island?

(A) Divarlsland - Goa

(B) Quibble Island - Tamil Nadu
(C) Munroe Island - Kerala

(D) Majuli-Assam

Q125 the calligrapher of the Taj Mahal,

built and completed it in 1648 A.D.
(A) Gyasuddin

(B) Al-Bukhaari

(C) Amanat Khan Shirazi

(D) Muhammad Abduh
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Q122 AR WrRIgdY % BaT gl

2l

(A) 39 WA
B) BT wwarrR
(C) fRwrem

(D) €wrel @t @

Q123 fF=iferiae % & gfar & waw o ardh

I 27

(A) BTGR D+
(B) BIchT B
(C) e Vav d=u+
(D) & #=e B

Q124 fy=iferlRae # & o=, g & wad w1

Th-gdiy &?

(A) fRar gdu — mar

(B) Fae gdg — afierrg
(€) T gd — Il
(D) et — 3

Q125 Ted @ gorad (dformey)

A, 1648 THA % FEDI TG B 3R G
faar |

(A) TERGE

(B) Ire-g@

(C) 3 @ R

(D) o™ 3regE
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Q126 The freedom fighters Bhagat Singh, Q126 wci=aT |ftal wra Rie, g@a 3R
Sukhdev and Rajguru were hanged to AEIH B H wit &
death in ; " o &) T o)
(A) 1929 S (A 1929
(B) 1931 (B) 1931
,L (C) 1934 (C) 1934
(D) 1939 (D) 1939
|
Q127In _______, the British Government  QI27 A, fafewr wWwor I wra A
announced certain reforms in the structure WHR B WG § P GuRT Y agon
of the Government in India, which were @1, 5 A-fieY gur @ w9 § W
known as the Morley-Minto Reforms. GITCIT & |
(A) 1903 (A) 1903
(B) 1909 (B) 1909
(©) 1912 (C) 1912
(D) 1939 (D) 1939
Q128 Udyog Bandhu is an IS/ISO 9001:2008 Q128 54 W wawr i FRY B 929G A
certified ___ tier body of the SeanT “L IER T2 WHR FT IS/ISO
Government of Uttar Pradesh for the 9001:2008 SR b
purpose of setting up of businesses in the Prr & ofv 78 Wi st S
state and covers all industrial approvals. F wmRa w2
& (A) one (A) T
(B) two (B) @
: (C) three (C) &=
(D) four (D) TR
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Q129 Uttar Pradesh ranks intermsof Q129 ¥R ¥ Wiveawy Frafa @ gfe ¥ saw

software exports from India. WY WM W R
(A) first (A) B
(B) second (B) g
(C) third (C) drrR
(D) fourth (D) =
Q130 Uttar Pradeshranked ____intermsof Q130 @¥ 2018 % ¥5¥ &1 N1 & Tl ¥,
domestic tourists visiting the state in the Tdedl & AW W SER wew
year 2018. ®IF W &
(A) first (A) were
(B) second (B) T
(C) third s (C) dre
(D) fourth (D) =y
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ROUGH WORK /3% & & forw

FEA

(AL AL A
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ROUGH WORK /%% &1 & farw
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Read the following Instructions carefully :

Fr=fafeaa FAdal &) e Q@ 9@ -

1. Out of the four alteratives for each question, only
one circle for the correct answer is to be darkened
completely with Black Ball Point Pen on the OMR
Answer Sheet. The answer once marked is not liable
to be changed

2. The candidates should ensure that the Answer Sheet
is not folded. Do not make any stray marks on the
Answer Sheet. Do not write your Roll No. anywhere
else except in the specified space in the Answer Sheet.

3. Handle the Test Booklet and Answer Sheet with care,
as under no circumstances (except for discrepancy in
Test Booklet), another set will be provided.

4, The candidates will write the correct Test Booklet
Series as given in the Test Booklet in the Attendance
Sheet.

5. Each candidate must show on demand his / her Admit
Card to the Invigilator

6. No candidate, without special permission of the Center
Superintendent or Invigilator, should leave his / her
seat.

7. The candidates should not leave the Examination Hall
without handing over their Answer Sheet to the
Invigilator on duty. Cases where a candidate has not
signed on the Attendance Sheet will be deemed not to
have handed over the Answer Sheet and dealt with as
an unfair means case.

8. Use of Pencil/Electronic/Manual Calculator is
prohibited.

9. The candidates are governed by all Rules and
Regulations of the Commission with regard to their
conduct in the Examination Hall, All cases of unfair
mecans will be dealt with as per Rules and
Regulations of the Commission.

10. After Examination is over, candidate has to return his
Answer Sheet to invigilator. Invigilator will hand over
the Candidate’s copy to candidate, then only
candidate is allowed to leave the examination hall.
Candidate is only allowed to take Candidate’s copy of
answer sheet.

11. Candidates are not allowed to take Test Booklet with
them. They have to submit the Test Booklet to the
Invigilator after the exam.

1. & 9o @ fov Ry 13 9 sl § 9
WEl SR @ AU 3l uu. IR, 9N 9Ee W
Fad U@ A B 8 78 o S a0 dige
9 A W UP IR In sifba By a9 @

1% IH qGAT T8 O HHaT 8 |

2. werefl. gFifea o & S =S @) A
9 WY U4 99 W &1 37 e 51 |
gienedf yuer sgwHie IR IS A
fuiRa wim @ afiRaw smam 71 ford

3. e gRa@T U4 SR UEG @ FYEd
wanT &R, a4iis & 9 ok § @aa
e Rt 3§ B B Bre ) gEY weT
gRE®T U4 ST UFS SUGEl A8l Bl
mgﬁ% # 41 7 gden gRawr S

4. &

& ydarfl w8 a¥e 4@ Sufefy e 3
ford |

5. U8 OF W yde wderll, o srades @Y
9T WA UH @ |

6. JENETD AT H& e a9y sl &
& o1 odemft s Wi T B

7. IR P& IFINED DI AYAT IR 9D 27
fr ot s wim wE B afy
faeit ademelf % SuRufy yae o swmr 8
fbv ot 98 #FT W @ 99T 9T UEe
e citern & 3R g aFf A w1 AT
HET WICT |

8. yfaa /goagife / exaafera yReas &1
Iy aftfag &

9. U gfct ® ameRer & oy ydemdt amnr &
wﬁﬁuﬁ@ﬁﬁuﬁimﬁuﬁa%nmﬁa
e @ Wi yeRui B Badr A P
et wd Rfadl @ aar 8

10. 990871 & SURIc 3pell STR YA a1 AiEs
I ofler €| aded g Il 3 ST
umE ot 3Rl wfity /e wfy svaa v
S e fraa ST & wE 1 Bre At
FFafa @ el | IR uAS B apelf wfy
el @1 AU A o WM @ Sl )

1. 90 @& Suvia gdardl st gdar gRaer
e FaEd @I ater sl | e gRas
& ydereff s wrer s @ W wad ¥

2022952

P-KS-1 48

SERIES-AB




